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Mark scheme for Test A (pages 7-27)

Answers

Award 2 marks for: A satellite is going to Mars. The satellite will explore the
surface of Mars.
Award | mark for either of the above.

Award | mark for scientists
Award | mark for digital

Award 2 marks for Colour: Red and Cause: Rust
Award | mark for either of the above.

Award | mark for more

Award 2 marks for any two of the following:
e To investigate the planet Mars

e To answer scientists’ questions

e To take photographs

e To find out more/to explore the planet Mars
Award | mark for each correct reason.

Award | mark for: Journey

Award | mark for any answer that suggests: Appropriate/right/correct
Award | mark for: So you don't scare the birds.

Award | mark for: To help you see the birds more clearly.
Award | mark for: So the birds don't see them.

Award | mark for: keep a chart

Award | mark for pigeons

Award | mark for two

Award | mark for: Blue tit

Award | mark for: Robin

Award | mark for brown

Award | mark for seeds and nuts

Blackbird In the trees
Blue tits Towns and cities
Sparrows Gardens and parks

Award |1 mark for answers that suggest any of the following: snow or ice
hiding food sources, the ground becomes too hard for them to find seeds or
insects in it, many trees and plants lose their leaves and fruit in the winter.

Award | mark for: A piece of string
Award | mark for 40O

Award | mark for: To encourage the reader to make a bird cake.
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